Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.
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Section—C
(Long Answer Type Questions)

Each question carries 20 marks.
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Explain the various health and safety provisions
under the Factories Act, 1948.
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Describe the main provisions of Bonded Labour
System (Abolition) Act, 1976.
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Explain the characteristics of the Child Labour
Act, 1986.
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What are the achievements of Trade Unions in the
context of Labour Welfare ? Are these
achievements enough for the Indian World of
Industry ?
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The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section-A
(Very Short Answer Type Questions)
Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 2 marks.
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Define ‘Adult’ under the Factories Act, 1948.
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Age limit of child labour
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Mines labour

e gfs

Employer
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Factory
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Welfare funds
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(vil) Women workers
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(viii) Bonded labour

(ix)

x)

Note —

Y AR
Inspector
I§AEED
Appropriate Government
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Section-B 4%x10=40
(Short Answer Type Questions)

Answer any four questions. Each answer should not
exceed 200 words. Each question carries 10 marks.
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2. Explain the various labour welfare theories.
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3. Discuss the powers and functions of the inspector
of mines.
TH e & AR @ w1 & faa=m sl

4. Discuss the various provisions regarding
Prohibition of Child Labour.
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5. What do you mean by the Inter-state migrant-
workmen ?
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6. Explain the working hours for the labour.
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7. What do you mean by Industrial Sociology ?
SirENfiTer THSRIET ¥ 39 9 FHed © 2

8. State the role of Advisory Board under Contract
Labour Act, 1970.
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9. State the functions of Labour Welfare Officer.
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